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./shelley If winter comes can spring be far behind

o00 1: 010000000

#include <stdio.h>
int main(int argc, char xargv|[])
printf ("%s %s\n”, argv[5],argv[3]);

return 0;

}

[02] O0020000000000000000petsC00O0D0OO0ODOOOOOODOOOO
obooooooooooog

./pets cat dog rabbit

oob 22020000000

#include <stdio.h>

int main(int argc, char xargv|[])

{

while (arge >0){
arge ——;
printf (?%s\n”, argv[argc]);

}

return 0;

}

[03] OO0 30000D00000D0
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oo0 3: 030000000

#include <stdio.h>
#include <sys/types.h>
#include <unistd.h>

int main(vid)

int pid;
int x=10, y=5;

pid=fork ();

if (pid!=0){

printf ("%d4+%d=%d\n” ,x, y, x+ty);
telse{

printf ("%d-%d=%d\n” ,x, y, x—y);
}

return 0;
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[03] 0005000000000000000000000000000000000000O0
00000000000000000000 40000 0 |00O0O0o0oooooon

obd 4. 00D000oooooobooooooooon

#include <stdio.h>
#include <string.h>
#include <unistd.h>
#include <sys/types.h>
#include <sys/socket.h>
#include <arpa/inet.h>

int main(void)

{
struct sockaddr_in server;
char message[80], hoge[16];
int t;

strcpy (hoge ,”192.168.1.107);

return 0;

ubd 5 00booobobooooobobooooon

#include <stdio.h>
#include <unistd.h>
#include <sys/types.h>
#include <sys/socket.h>
#include <netinet/in.h>

int main(void)
{
struct sockaddr_in client , server;
char buf[80];
int t, r;
unsigned int k;

t=socket (AF_INET, SOCKSTREAM, 0);

server .sin_family=AF_INET;

server.sin_addr.s_addr = htonl (INADDRANY);
server.sin_port = htons(4320);

bind (t, (struct sockaddr *) &server, sizeof(server));
k=sizeof(client );

listen (t, 1);

r=accept (t, (struct sockaddr *) &client , &k);

recv(r, buf, 80, 0);
printf (”%s” ,buf);

close (t);

return 0;
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